



Problema
Efectos
Causa: Nivel 1
Causa: Nivel 2
Efecto 2:

Efecto 3:
Manifestación del problema:  METACOGNICIÓN 
Causa 1.b:
Efecto 1: 
Efecto 4:
Causa 1: 
Causa 3:
Causa 2.a:
Causa 2:
Causa 1.a:
Causa 3.a:
Causa 3.c:
Causa 3.b:
MODELO DEL ÁRBOL DE PROBLEMAS 















	entarioPROPÓSITO
IMPACTOS
EFECTO DIRECTO
PRODUCTO
Impacto 2:

Impacto 3:
Propósito: 
Producto 1.b:
Impacto 1: 
Impacto 4:
Efecto Directo 1: 
Efecto Directo 3:
Producto 2.a:
Efecto Directo 2:
Producto 1.a:
Producto 3.a: 
Producto 3.c:
Producto 3.b:
MODELO DEL ÁRBOL DE OBJETIVOS 
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